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Question 1

marks)

A) breathes
B) needs food
v' C) can respond

D) can reproduce

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

A snall hikes Nsell in s ghell when louched.

This shows that the snall Is a living thing becauss it

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,625,371

Primary 4 Science » Primary 4 Science (Term 4)

For each question, four options are given. Make your choice and choose the correct answer. (56
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Question 2

A) 1
B) 2
v C) 3

D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

A) water

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

Which part, (1), (2), (3) or (4), holds the plant upright?

\f————— (1)

-.
He
\

1

)

O,

2 : (4)

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,625,377
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The armows [— | in the diagram shos he dection of movament of & substance in planis,

-I'I:I'.'I't!. —p  glam —_— th

Whal is ihis substance T
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B) food
C) soil
D) air

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 4

A) frog
v B) beetle
C) chicken

D) grasshopper

Question Type:
Date Added:

Last Modified:
QID#:

Question 5

A) is shiny
B) can block light

Randomize Answers:

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,625,382

Which animal has a pupa as a stage in its life cycle?

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,625,387

The diagram shows a pair of scissors.

Metal is used fo make the blades of the sclssors becauge matal

¥v" C) does not break easily

D) can bend without breaking
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

A) air
B) milk
C) oil

v' D) rock

Question Type:
Date Added:

Last Modified:
QID#:

Question 7

Randomize Answers:

ClassMarker - Manage Test

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,625,394

Which of the following substances has a fixed shape?

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,625,399

In which of the following will the two magnets push each other away?

S

A)
N
S
N
B)
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C)
v D)
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,421

Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Question 8
Which of the following is a source of light?

A)
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the moon
v B)
burmning log
C)
a leaf
D)
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a mirror

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,625,433
Question 9 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which of the following is NOT a source of heat?

A) The Sun
B) A lighted bulb
C) A candle flame

v D) A woollen sweater

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,625,437
Question 10 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which one of the following is the best conductor of heat?

v A) A metal plate
B) A paper plate
C) A plastic plate

D) A wooden plate
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Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,625,441

Question 11

ClassMarker - Manage Test

Jana made ihe following statements on the young of animal P.

Young of animal P;

¢ breathes using gills
» does not look ke the adull

v A) frog

B) whale

C) beetle

D) butterfly
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,447

Question 12

Based on the cheervations, animal P is most likely (o ba a

Primary 4 Science » Primary 4 Science (Term 4)

Primary 4 Science » Primary 4 Science (Term 4)

Al Ml recorded some Informaiicn akoul the life oycie of a bulterfly and a chickan,

Butterfly Chicken

A | Leys eggs in water HNo Na
Has £ stages in ks e cycle s Yas

G | The young resesmibles fha adul Ha Yes

A) Aonly

v' B) Aand Conly
C) BandConly
D) A,BandC
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A

c

o

decraased
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Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,625,452
Question 13 Primary 4 Science » Primary 4 Science (Term 4)

Richard noticed that the number of caterpBlars in his gardan decressed aflsr tao weoks, Ha
winin deean soma ressons for this chesrveiion,

Tha caterpiiars have died.
The caterpilars have l&id egps,
Thia caterpdlars hiva turfed Into pups.

Thiz caberpdiaes hiave bean salen by other animals,

Which of tha folowing are possible reapors (o explaln why tho number of catarpilars

A) AandB only
B) B and C only
C) CandDonly

v' D) A, CandD only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,464
Question 14 Primary 4 Science » Primary 4 Science (Term 4)
The bar graph shows the sleges eod that pesmier of days ihat animal 2 remains &t sach
stage of s i cyole
L) — —
niimbsar af days 45
44
x5
£ -
FL]
F.ll
15
10
5
o | BN

stage
e &g pupa adui

Hoaw ey clas doas I ks Tor animal £ 1o become an adul after hatching from o agg?
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A) 10
v B) 30
C) 35
D) 75
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,470
Question 15 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Johin waried b find out the magneto strength of four differsnt magneds O, R, 8 and T. Ha
mivd an iron mall slowdy towards magnet (3 and measwred fhe dstance when (ha nall was
st eitrsctsd by the magnst. He repaated this axperiment with magnets R, S and T. Tha
resLdls ane shown in the disgram.

wpac [T
Magret R ]:Ij r—
T

et [T

Baead o the above resulls, tha magnelie strength of .

A

v" A) Magnet S is the greatest.
B) Magnets Q and R is the same.
C) Magnet Q is lesser than Magnet R.
D) Magnet T is greater than Magnet S.

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,625,481
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Two cbiects X and Y are placed on a balance as shown.

Based on the diagram, which of the following statements Is comect?

A) Object Y has less mass than object X.
v B) Object Y has more mass than object X.

C) Object Y has a bigger volume than object X.

D) Objects X and Y are made of the same material.

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,491
Question 17 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Gaorge fills up a long ballpon with air and twists it io form a ‘balloon ankmal’ s shown,

Eevist
. T —

fzng balioon baflcon animal

Which of Ihe fllowing sintements best explaina why he iz able 1o baist the long talleon
inbe a ‘balloon animal' ¥

A) Air has mass.
B) Air occupies space.
¥ C) Air does not have a definite shape.

D) Air does not have a definite volume.

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,625,498
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Question 18

1000

mé
iy animal

bmakaer

of the Loy antmal?

A) A/B,CandD
B) B,A,CandD
v C) B,C,AandD

D) C,B,AandD

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,505

Question 19

ClassMarker - Manage Test

All recarded the properiles of P, O and R as shown,

Primary 4 Science » Primary 4 Science (Term 4)

Lewts wanbed to find the volume of her oy animal uging e baakar shawn,

Thes following ea fva steps that she foak ko Tind the volume of the foy animal

A Read e rew wotuma of watar,

B Ell then haatonr with 500 md of waler.

G Lowear the toy aniral gently Inlo tha beaker.
&} Caloulain tha dilferancs between the oid and nenw volums

Which of fhe fiollowing shows the cormed ssquance of staps shia ook io find aul the valumas

Primary 4 Science » Primary 4 Science (Term 4)

Does ithave | Docslihavea | Does it have a Can i be
meass and definite dafin iz compressed 7
volme? shopa? volusmad
[ ] o Mo Mo
o] Yei Yes Yes Mo
” YagE [ Ko b

A |p Q |R

Balloon | Pen | Sponge

vB) lp |a R
Light | Pen [ Air

© |p|a |R

Based on fhe labls sbove, which of tha following corredly Idenbifies P, O anpd BT
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Air | Milk | Pen

D) lp |@ |R

Heat | Pen | Milk
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,626,730
Qu estion 20 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Al the star of het expeadment, Jane had & conlalmer Bhat corfatns Bwes subslarces A, B and
ﬂummmdeMmarmummmm
pump. Tha final levels of subslances &, B and G af the end of Bre axporimant are shown in

the dizgrams.
-— -
connaciad
= oormechsd
[ 1T wapump ~ % pusip
" B
E d
¢ I b cordnines c
| | | |
| | | F
il
Etart of mepserimant End of cpariman

{aRer more of substanon B was added)

Blased on tha dagrame above, which of S folowing commctly ilerdifies the state of
substances A, B and ©7

VA |a |B c

Gas | Liquid | Solid

B) |a B |cC
Liquid | Solid | Gas

©9la |[B |C
Liquid | Gas | Solid

D) Ia |B |c
Gas | Solid | Liquid

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,626,757
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v A)

B)

C)

D)

Question 21

P ———_..E

P

Q R

light source | James' eyes | object

P

Q R

James' eyes | light source | object

P

Q R

light source | object | James' eyes

Q R

object

James' eyes | light source

Question Type: Multiple Choice
Randomize Answers: No

Date Added:
Last Modified: N/A
QID#:

Thu 5th Aug 2021

28,626,848

Question 22

‘Which of tha ioliowing kipntifes P, G and R comasiy™

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

James ls able o see an objs inoa brighily-l reom. The ermows [—= ) in iha dizgam show
thx pikhs of Ight,

Primary 4 Science » Primary 4 Science (Term 4)

Efison pleced a ball in tha médda of & metal box wilh four holiow hibes and a Bpht soua
g8 shown Inthe diagram,

\ fight scurce
tiba A ﬂl/k/// hube
- ﬁmﬁwnﬁm}
fube B \.__...-/ | | - fhube D
matal box

Based on the diagram abeys, hecugh which ube can he ses e ball?

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit
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A) A
B) B
v e c

D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,626,857
Question 23 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Bludy the flow chart carefully.

TR

g?ae-d an the ficw chart above, which of the following best represents objects 0, B and

A) la R )

frosted glass | thick cardboard | clear plastic sheet

v B) |q R s

thick cardboard | frosted glass | clear plastic sheet

€ |a R )

thick cardboard | clear plastic sheet | frosted glass

D) |q R ]

clear plastic sheet | frosted glass | thick cardboard

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,626,908
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Question 24 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Coln camed ouf an expariment ina dark mom using ihe set-up as shosn.

i
e US
it torch objsct A
BB

Whan ba switched on the forch, he saw the shadow of objact A on the screen as shown in
the diagram balow,

— . SR

- | ehodow of objest A

Based andy on the chasneation above, which of the following atatemess is e

v A) Object A did not allow light to pass through.
B) Object A allowed most light to pass through.
C) The shadow changed shape when the screen was moved nearer to object A.

D) The shadow changed shape when the screen was moved further from object A.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,626,931
Question 25 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Eunwhmlnamrhimﬂtnﬂummhmmmu.mm
i ; B e same st the distsnos

e

P a "

Biased on e diagmm above, which of the foll siatemants i&
| ot . N & ooareet gbait the

A) His shadow was the longest when he was at Q.
¥ B) His shadow was the shortest when he was at Q.

C) As he walked from P to Q, his shadow became longer.

D) As he walked from Q to R, his shadow became shorter.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,626,974
Question 26 Primary 4 Science » Primary 4 Science (Term 4)

Andrew placed an ice cube into a beaker filled with hot water,

Which of the following statements is correct?

A) The ice cube lost heat to the water.
v B) The water lost heat to the ice cube.

C) The ice cube did not gain or lose heat.

D) The water gained heat from the beaker.

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,231
Question 27 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Bala filed up two giassas with [he ssme amount of waler. The emperaires of waler af the
siort of the experiment aro as shown.

walar &1 B0°C waler gt 30°C

Bala then mixed all tha water frcrm both glaazes Inba & leege contalnar. He iemmediataly
messumd the femparature of watar in fha lange contniner.

largn conlaines

Based on tha infermation glvan abova, the tempenaturs of water Intha lage container
fhant was Immediataly maasured by Bala woas

A) 90°C
B) higher than 90°C
C) between 0°C to 30°C

v D) petween 30°C to 90°C

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,257
Question 28 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Danny siteched a balioon to an emply botile. He then Emersed the otk |
waler &t T0°C 25 shaown, BT I in & basin of

e ETIPLY DOEE

#hﬁmmm:’c?ﬂ'ﬂ

At tha sfar of he epeimant & minctes indo the exporimang

Aftar & whils, the bafloon was obeerved fo have changed He shapa,
Which of tha following statements bast exgiaing this observalion?

A) The balloon gained heat and expanded.
B) The empty bottle gained heat and expanded.
¥ C) The air in the bottle gained heat and expanded.

D) The air in the balloon contracted and took up less space.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,268

Question 29 Primary 4 Science » Primary 4 Science (Term 4) 3 pts

Match the following animals to the correct groups.

Clue Match
Mammal
L
Points: +1 =0
Bird
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L

Points: +1 =0
Fish

L
Points: +1 =0
Incorrect match option Amphibian
Question Type: Matching
Shuffle Mode: Shuffle Matches Only
Date Added: Thu 5th Aug 2021
Last Modified: Thu 5th Aug 2021
QID#: 28,627,848
Question 30 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The diagram shows parl of the human digestive system.
Tick one box to show where the gullet is.

/ l

v A)
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e

B)

-
| f
L

—
By

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,993
Qu estion 31 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Fill in the blank using the following helping words below.

Clue Match
Food from the gullet is next passed on to Stomach
the

Points: +1 =0
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Incorrect match option Large intestine
Incorrect match option Small intestine
Incorrect match option Mouth

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,628,002

Qu estion 32 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Andy placad two ring magnets, A and B, through a holder as shown below,
holder

magnet B

The holder was made of plastic and did not attract the magnets.

Plastic is a material.

Accepted answers:
¥’ non-magnetic

¥’ non - magnetic

Question Type: Free Text

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,629,813

Qu estion 33 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Magnet B was

¥ repelling

Question Type:
Date Added:
Last Modified:
QID#:

Clue

Honey

Points: +1 =0

Shadow

Points: +1 =0

Marble

Points: +1 =0

Shuffle Mode:
Date Added:
Last Modified:
QID#:

hodder

ClassMarker - Manage Test

Andy placed two ring magnets, A and B, through a holder as shown below.

Question Type:

Why was magnet A floating above magnet B?

magnet A.

Accepted answers:

Free Text

Thu 5th Aug 2021
N/A

28,629,818

Question 34

Classify the following into matter and non-matter.

Matching

Shuffle Matches Only
Thu 5th Aug 2021
N/A

28,629,829

Question 35

The diagram shows the life cycle of a cockroach.

et A
magnel B
Primary 4 Science » Primary 4 Science (Term 4)
Match
Matter
Non-matter
Matter

Primary 4 Science » Primary 4 Science (Term 4)
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an

S

J

adubt
Label the missing stage above.
Accepted answers:
¥ Egg
Question Type: Free Text
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,629,941
Question 36 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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cﬁm/\ >

il

aduilt

Label the missing stage above.

Accepted answers:

v Nymph

Question Type: Free Text

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,629,951
Question 37 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

The table describes fha |ifo cycles of four anémals, P, O, R and 5.

Description =] —a | =R g
Young resembles the adult E | ¥ ‘ . v
Has Ihrea stages In He life cycls ® W | P -
Yoaung goes Brough moulting ¥ v | i N

Based on the table above, which animal, P, Q, R or S best represents a cockroach? (1 mark)

Accepted answers:
¥’ Animal R

v R

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,629,979
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Question 38 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

The table describes the |ifo cyoles of four snimals, P, O, Rand 5.

Description P —a | K 8
Young resembles the adult g " " ¥
Has hres stages In He Iife cycla ® ¥ x ..r'
Young goes Bwough moulting ¥ . ® N

Based on the table above, state two similarities in the life cycles of animals R and S. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,629,987

Correctly answered feedback
Both animal R and S young resemble the adult and their young does not go through molting.

Incorrectly answered feedback

Both animal R and S young resemble the adult and their young does not go through molting.

Question 39 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
Sludy the classification chart carafiully,
Ariimiaks
|
I ]
Three-stage [iFe oyole Four-siage e cycle
| I
| | | 1
Lay epgs in Lay eggs on Lay esggs in Lay aggs on
Wler land waiar land

| | | |

A B | ]

Based on the classification chart above, describe animal A. (1 mark)
This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay
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Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,631,995

Correctly answered feedback
Animal A has a three-stage life cycle and lays eggs in water.

Incorrectly answered feedback
Animal A has a three-stage life cycle and lays eggs in water.

Question 40 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
Study the classification chart carafully,
Arimals
|
I ]
Three-stage ife oyole Four-stage ife cycle
| I
| | | 1
Lay eggs in Lay eggs on Lay aggs in Lay eggs on
W e fand walar land

| | | |

A B | ]

State one difference between animals B and C. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,007

Correctly answered feedback
Animal B lays eggs on land while animal C lays eggs in water.

Incorrectly answered feedback
Animal B lays eggs on land while animal C lays eggs in water.

Question 41 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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8/6/2021
Study the classification chart carafulby,
Animale
|
I ]
Three-stage iFe oyole Four-stage ife cycla
| |
I | I |
Lay eggs in Lay eggs on Lay eggs In Lay eggs on
Wit land wader land
A B | ]
Based on the classification chart above, which animal A, B, C or D, best represents a mosquito?
Accepted answers:
¥’ Animal C
v c

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,021

Primary 4 Science » Primary 4 Science (Term 4)

Question 42

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit
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Study the classification chart carafulby,
Animale
|
I ]
Three-stage iFe oyole Four-stage ife cycla
| I
I | I 1
Lay eggs in Lay epgs on Lay eggs in Lay aggs on
W e land wadar land

| | | |

A B | G

A mosquito Is considered a pest as it spreads dizeases such as dangue fever,
The picturs shows a stage in the life cycle of & mosquito.

breathing ube

s S S B

Based on the picture, explain how applying a layer of ofl an the surfacs of the
pond waber can help to control the number of adult mosquita, [1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,060

Correctly answered feedback

By applying a layer of oil on the surface of the pond, it will block out the air from entering the
breathing tube of the mosquito thus the mosquito will not survive which will help maintain a safe
number of mosquito.

Incorrectly answered feedback

By applying a layer of oil on the surface of the pond it will block out the air from entering the
breathing tube of the mosquito thus the mosquito will not survive which will help maintain a safe
number of mosquito.

Question 43 Primary 4 Science » Primary 4 Science (Term 4)
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Peter hias & container wilth a capacity of 250 cm, i has 100 e of walsr inside. Hs connecied
:ﬁ:ﬂ:hmﬂmﬁmﬂdh“ﬂhmm.ﬂpﬂh%ﬂwa

m e o g R I . - i s

plunger e e o i s e ]| 10 G O DT

In the table below, write down the volume of air in the container before and after air was pumped into
the container. (2 marks)

Volume of air in container before air was Volume of air in container after air was
pumped (cm?3) pumped (cm3)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,085

Correctly answered feedback

Both volume of air before and after is 150cm3.

Incorrectly answered feedback

Both volume of air before and after is 150cms3.

Puhhus;:nﬂwﬂampmly
& pump bo the condainer amd pushed tha of 1k . Each
el \ plungar PATI SnGa push pumps 50 cm® of

B
]
-
!
i
;
|

| oantainar

m i o o T O T i s i e

plunger 55 e e o i e ]| 100 G O R

What property of air is shown in this experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit
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Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,090

Correctly answered feedback
Air can be compressed.

Incorrectly answered feedback
Air can be compressed.

Question 45

Peler fins & container wilh & capacity of 250 cm®, i haes 100 e of waler inside. Hs connecisd
:ﬂ:ﬂ:mmmwmmﬂhmmmmwmwu

|=—— oconkainar

D e L T ———

plunger . e o i s e ]| 100 G O R

Heut, Peler took four idarScal besters, B, L, M and N, Ha placed fowr siones. of o difeesn) val
ko gach baaker. M.MHMWHMM*“HMIHHMT

M
Which of the baakems, K, L, Mor M ts flad with the grealast amount sl waler? i1
Accepted answers:
¥’ Beaker K
v K
Question Type: Free Text
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,098
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Jazon gonducked an axpeciment using bwo similer conlainan A and B, each fitled with a gloss fuba
and a funnel, He pul & sloppar in e gless lubo thal was Bifed into contéiner B. Nexl, he poursd

walar inte aach funnal,

SN
it

In which container, A or B, can water flow in faster?

Accepted answers:
¥’ Container A
v A

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,109

Question 47

Jason gonduched an axperiment using bwo similar conlainan: A and B, each fitled with a gloss fube
and & funnel, He pul & sloppar in e gless lubo thal was Bifed into contéiner B. Nexl, ha poursd

walar inte aach funnal,

T
|

Juson condusied another experment with tvo idenlical plas$s cups X and Y, He inverled both
ciige o a basin of watar, Ona of the cups had a hole at ke botlom whils fhe other cup did

riot nave ey holes, The resull of the expediment is as shown.

basin of walsr

Based on the diagram above, which cup, X or Y had a hole at the bottom?
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Accepted answers:

v Cup X

v X

Question Type: Free Text

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,632,121

Question 48 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Juson condusied another experment with bvo idenlical plashs cups X and ¥, He inveried both
ciiia into a basin of waler, Ona of the cups had a hols at the bottom whils e ofher sup did

reat have any holas. The fesull of the expetiment B as shown.

i AT

Explain your answer in the previous question. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,139

Correctly answered feedback
If a cup has a hole in it, the amount of water flow into it will be the same level as the water level of
the basin of water which is shown in the diagram cup X does. Thus cup X does have a hole in it.

Incorrectly answered feedback

If a cup has a hole in it, the amount of water flow into it will be the same level as the water level of
the basin of water which is shown in the diagram cup X does. Thus cup X does have a hole in it.

Question 49 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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Terry wani: | 19 find cuf how the distance babwean the lamp and H'-uqﬁmeﬁﬁ
the shadow ooed on the sorsan, He set up &7 axperiman &8 ahown,
distancs bebween
Ewnp and object
kg
He recordad Fie rasuils in She tnbis balow,
Distance butween lamp and Hulght of shadow formed on
chject (om) the white screan {cm)
20 T
15 ]
10 n
[ 13
Predict the height of the shadow formed on the white screen if the distance between the lamp and the
object is 8 cm.
Ans: cm
Accepted answers:
v 12cm
v 12cm
v 12

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit

Question Type:

Date Added:
Last Modified:
QID#:

Free Text

Thu 5th Aug 2021
N/A

28,632,155

Question 50

Primary 4 Science » Primary 4 Science (Term 4)
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kg

He recordsd he nasaills in B tnbls belos.
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distarcs bebween
ks and object

Distance bubwesn amp and Hulglit of shadow formed on
chject (om) the while screan (cm)
20 T
15 ]
10 11
5 13

object? (1 mark)

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,161

Correctly answered feedback

Incorrectly answered feedback

Question 51

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit

The object should be placed right on the screen.

The object should be placed right on the screen.

Terry wank | {5 find ot how the distance bebween tha lamp and hnﬂﬁmmwﬂﬁﬁ
the shadow ‘oomed on the somsn. He sof up &0 axpesiment a8 shown,

Where should the object be placed so that the height of the shadow is the same as the height of the
This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 4 Science » Primary 4 Science (Term 4)
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He recordsd he nasaills in B tnbls belos.
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Terry wank | {5 find ot how the distance bebween tha lamp and hnﬂﬁmmwﬂﬁﬁ
the shadow ‘oomed on the somsn. He sof up &0 axpesiment a8 shown,

distarcs bebween
ks and object

Distance bubwesn amp and Hulglit of shadow formed on
chject (om) the while screan (cm)
20 T
15 ]
10 11
5 13

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,194

Correctly answered feedback

formed on the screen.

Incorrectly answered feedback

formed on the screen.

Question 52

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit

Based on the results in the table above, what could Terry conclude? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

The bigger the distance between the lamp and the object the shorter the height of the shadow

The bigger the distance between the lamp and the object the shorter the height of the shadow

Primary 4 Science » Primary 4 Science (Term 4)
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Dhewi shines & |it forch on @ soft deink can from positicns 1 and 2. A8 a resull, shadows am
formed cn screens & and 8,

Bt jorciy Al -
posiion 2

s0ft drink
i

Tl
/ /

scroee B

BETEEN A

Name the shape of the shadow that Devi will see on screens A and B. Fill in the blank using the
following helping words.

Clue Match
Screen A: Rectangle
Points: +1 =0

Screen B: Circle
Points: +1 =0

Incorrect match option Triangle
Incorrect match option Square

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,632,213
Question 53 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Dayi shines a lit forch on & solt drink can fram positicns 1 end 2. As & resull, shadows arg
formad on ecreens & and 8,

Bt lorciy Al =
position 2

s0ft drink
ey

i
-

scroee B

Boesn A

Based on your answer in the previous question, what does this experiment show about the effect of the
position of light source on shadows formed? (1 mark)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,241

Correctly answered feedback
The different position of the lit torch, the different shape of the object.

Incorrectly answered feedback
The different position of the lit torch, the different shape of the object.

Question 54 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Dewi shines a lit forch on @ solt deink can from positicns 1 end 2. As a resull, shadows amn
formad on screens & and B,

Bt lorciy Al =
position 2

soft drink
ey

fit torch o

o
L

scroee B

Describe how the size of the shadow will change when the screen is moved closer to the object. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,256

Correctly answered feedback
The height of the shadow will decrease.

Incorrectly answered feedback
The height of the shadow will decrease.
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Question 55 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Diswi shines a it torch on & soft dink can from positicns 1 and 2. As a resull, shadows ar
formed cn screens & and B,

Bt Iy @l -
position 2

soft drink
=)

fit torch ot

o
L

scroen B

Explain your answer to the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,315

Correctly answered feedback

When the object is farther away from the light source and nearer to the screen, it's height
decrease.

Incorrectly answered feedback

When the object is farther away from the light source and nearer to the screen, it's height
decrease.

Question 56 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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8/6/2021
Jdimmy prepamd the folowing sal-ups as shown in tha diagram.
{
The lemperature of the mik in sach sal-up |8 eoorded ol en-minuts inervals &s shown
in tha inbile balow,
— Tima jminute)
L] 10 0 30 40 50
Temparature [C) of
millk |n sat-up A (1] B0 40 a8 o5 5
Temparaturo (“C) of
mmilk in set-up B L] o ] A0 25 25
Which set-up, A or B kept the milk warmer for a longer period of time?
Set-up
Accepted answers:
v Set-up B
v Set-upB
v B
Question Type: Free Text
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,334
Qu estion 57 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Jdimmy prepamd the folowing sal-ups as shown in tha diagram.

The lemperaturs of the milk in sach sel-up |8 ecorded of len-minuts infervals &s shown

ini tha tabile balow,
Time (minute)
0 10 20 30 40 C
Temparturs (5G] of
millk In set-up A ] =i} 43 25 a5 5
Temparaturo (“C) of
millk in sat-up B L] 0 i1 40 25 25

Explain how the set-up stated in the previous question helped keep the milk warmer? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,349

Correctly answered feedback
The milk in set up B lost heat due to the surrounding air.

Incorrectly answered feedback
The milk in set up B lost heat due to the surrounding air.

Qu estion 58 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Jdimmy prepamd the folowing sal-ups as shown in tha diagram.

The lemperaturs of the milk in sach sel-up |8 ecorded of len-minuts infervals &s shown

ini tha tabile balow,
Time (minute)
0 10 20 30 a0 C
Temparturs (5G] of
millk In set-up A ] =i} 43 25 a5 5
Temparaturo (“C) of
millk in sat-up B L] 0 i1 40 25 25

Explain why there was no difference in the temperature of milk between both set-ups from the
40" minute onwards. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,400

Correctly answered feedback
The temperature of the milk reached room temperature.

Incorrectly answered feedback
The temperature of the milk reached room temperature.

Qu estion 59 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Kiaran carmed oul an experiment o immstigata how fest heat & ioat trom 5 tosf lube and a beaker
a8 shown. Thea besi hib=s and beaker sach contained & diferent amaunt of hol walsr af BORC,

The temperatura of walar in the fesi kibe and beakerwas takan using & lemgeralss sansor
i @ partod of s, Ths tahls below shows [ha msuls

sotup X

Question Type:
Date Added:
Last Modified:
QID#:

Question

ot tube]

Temperaturs of water (C) e}
e 45 3 F T 28
(i) B2 45 a5 a 2z

Essay

Thu 5th Aug 2021

N/A

28,632,442

60

Correctly answered feedback

Incorrectly answered feedback

The changed variable is the amount of liquid.

The changed variable is the amount of liquid.

What is the changed variable in Kieran's experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 4 Science » Primary 4 Science (Term 4)

Kiaran camied oul an experiment o immestigata how fest heat & loat rom 8 tosf lube and a beaker
a8 shown. Tha beai hibs and beaker sach contained & diferent amaunt of hel walsr af BORC,

The lemparatuna of walar n the test kibe and beakerwas taken using & lemparahsrs sansor
el 8 padioal of Uma, The tabls below shows [ha msibs

£ b

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit

St tube)

Temperaturs of water (") o
T 45 3 Fo] 8 28
[if¥) B2 5 1) aE 3z

Based on the results above, what can you conclude about how fast heat is lost from the hot water in

0 pts
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set-up X compared to the hot water in set-up Y? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,460

Correctly answered feedback

The lesser the amount of water the faster the heat lost, set up X has lesser water so heat lost is
faster compared to set up Y which has more water will take longer time to cool down.

Incorrectly answered feedback

The lesser the amount of water the faster the heat lost, set up X has lesser water so heat lost is
faster compared to set up Y which has more water will take longer time to cool down.

Question 61 Primary 4 Science » Primary 4 Science (Term 4)

- basinof
L ot water

Explain how placing glass B into a basin of hot water enabled Kelvin to separate the two glasses. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,494

Correctly answered feedback

Glass B will heat up and expand while glass A will not gain heat and remain the same. Thus glass
B will expand making glass A easy to pull out.

Incorrectly answered feedback

Glass B will heat up and expand while glass A will not gain heat and remain the same. Thus glass
B will expand making glass A easy to pull out.

https://www.classmarker.com/a/tests/test/?test_id=1792955&trk=edittest_inrow_edit
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Question 62

plass &

glass B

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 4)

Kohin had hwo glasses that wane tghily shuck ss shown in diagrem 1, He maragod o separatn
themn by dipping glass B inio a basin of hot watoer &5 shosn in disgeam 3,

Question Type: Essay

Last Modified: N/A

Question 63

Eguer ||
Th-n:d:l.l'ri'nh.

State another method to separate the two glasses. (1 mark)

Date Added: Thu 5th Aug 2021

QID#: 28,632,511

Correctly answered feedback
Place ice cubes in glass A.

Incorrectly answered feedback
Place ice cubes in glass A.

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 4 Science » Primary 4 Science (Term 4)

.A.mnh:lﬂm I:-'Ibﬂﬂﬂ:ﬂdw amund a woodan wheal using e folowing sieps as shown in tha

Sdap 2t
Thes baaled medal rim is iled
arcund ths woadan whesl

around the wooden wheel.

(2 marks)

Siep 3; The metal rim Is
poured over by oold
wambr

Step

Explanation

1. The metal rim is heated.

Based on Kelvin's experiment, explain how each of the following steps helped fit the metal rim tightly
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3. The metal rim is poured over by cold water.

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,632,635

Correctly answered feedback

Step

Explanation

1. The metal rim is heated.

The heat caused the metal ring expand so that it will be bigger
than the wooden wheel.

3. The metal rim is poured over
by cold water.

The cold water will make the metal ring to contract and tighten
the wooden wheel.

Incorrectly answered feedback

Step

Explanation

1. The metal rim is heated.

The heat caused the metal ring expand so that it will be bigger
than the wooden wheel.

3. The metal rim is poured over
by cold water.

The cold water will make the metal ring to contract and tighten
the wooden wheel.
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